Worksheet 1-8 Distance and Midpoint

Use the distance formulaor Pythagorean Theorem to find the distance of
segment CD.

1DC(3,4,D0,-1) 2)C(-1,8), D(4-3)
3)C(16,7), D(2,3) 4) C(4, -1), D(-3,6)
5)C (5, 10), D(5,-4) 6) C(5.,3), D7, 2)

.Find the coordinates of the mid;-aoi?"t of segment AB.
5

) A(3,-4), B(-3,0)  B(21),B53)

9) A(3-6), B(-9; 2)° 10) A(13,6) B(-312)

1D Find the endpmnt C 1f Mis the mldpomt of segment CD and M (2 4) and

D(5,7).

12 )M is the m1dpm:1t of segment AB and M is (-4,-5) and A( 2,-9). Find the )

. other endpoint B.

13) The mldpomt of segment AB is M(G -2). A has coordinates (1, 2). Fmd
the-coordinates of B.

14) The midpoint uf segment AB is M(3, 4), Ons endpomt is A( -3 -2) Find

the coordinates of the other endpoint B,



Findingll’erimeter and Aren of Rectangies & Triangies ' . ' : : Equations of Parallel Lings |
Name: Date' Per: : Write the equation of each line in slope-intercept form.

. 1.The ilhe'with stope 3 that passes through (0, 6} 2. The line witH slope -4 thaf passes through {0, -5)
Graph the coordmate pomts connect the pomts in order to form a polygon for each and ﬁnd the perimeter and ) ) ) ‘ :

sren for the polygon. .
1) A(-1L,1) B(-1,4) C(3,1) D(3,4) 2y A(-2,-1) B(S;-l) Ci-2,3)
7O : . : + : o - o
.67 : 2: - 3. The line with slope -1 that passes through (3,5) 4. The llne with slope 5 hat passes through (2, -5)° L
H ] . . . \ :
" 31 3
21 21
i4 14
h .é—é-&-i.i-i_f 123456 « '-é-é-&_i-i-if_ 123456 . . .
-2 C S-2q ‘ - . 5. The line parallel to y= 5x + 1 that passes through 6. The line paralled to y= -3x - 2 that passes
-2' S ) :3:' (3; 8) _ through -2, 7} »
-5 -5 C E
-6 -ﬁ‘
- v . i ¥
3) A2 B(3,0) C(-1,3) < |4 AQO) B(-3,:2) C(4,1) D23} :
Ya- Ya 7. The line that passes through (-1, 0) and is parallel 8. The line that passes through (3, 5) and Is parallel
. ‘ 5 to the line through {0, 1} and (2, -3} to the line through {3, 3) and (-3, -1}
.8 o 51 :
44 4
31 31
24 ’ 21 .
) 14 1 ) . : .
e T T ‘ DY 3 o ] B - A 9. The line parallel to x — 3y = -12 that passes 10. The ling parallelto 3x+y=8that passes
EREE 1‘; EERRE NG : :3_ through {-3, 4) ] through {0, -4)
2 . c. E - . . _a-
o : b3 -
-5+ ) L " 51
5] : ' B
. r R " Lt D 5
5) A(-1,2) B(-1,-2) C(3,0) : . ' 6) A(-3,-1) B(1-1) C(4,1) D{-1,2}
o 7Y . . Yy ) 11. Use the slope-Intercept form of a linear equation to prove that If two lines are parallel then they have the
& &1 same slope, {hint: use an indirect proof. Assume the lines have different slopes, m; and m3. Write the
. i 2 equations of the lines and show that there must b a point of intersection,) '
3 ) 3
21 27
14 14
a -é-é-&-a‘-é-i_lﬂ, 123486 4_-e"né-‘i-s'-é—i_iﬂ' 123438 »
-2 -2
34 -3
< -4 . -4
59 -5
64 : -6
¥ k.




Eauations of Pergengiculag Lines

erte the equatlon of eal:h tine in sIope-Intercept form.

1. The line perpgndieuiar 10 v = ¥%x + 1 that passes
through (1, 4} :

3. The line that passes through (1, 2) and s

perpendicular to the line through (3, -2) and (-3, 0}

5. The line perpendicular to 2y = x + 5 that passes
through (2, 1)

2. The line perpendlcular toy=-x+ 2 that passes
through (-1, -7)

4, The line that passes through (-2, 3) and Is
perpendicular to the line through {0, 1) and {-3, -1)

6. The ltne perpendicular to 3x +y =8 that passes
through {0, -2) .

7. Error Analysls A student was asked to find the equatlon of the line perpendicular to y — —2x =1 that passes
through the paint (4, 3). The student’s work Is shown below. Explain the error and glve the correct equatuon

line has slope .

y—vl=m(x—>u)

The given line has slope -2, so the required

¥=—3=MKx~4) Subsﬂtutc:: form, xy, v
y—3=4Hx-2 _Distnbuﬁve Property
y=¥x+l Add3to. both sides

3
Use point-sﬁ:pe formj . -

8, Are the lines given by the equatlons-dxﬁ- y =5 and —x + 4y = 12 parallei, perpendicular, or nelther? Why?

9. Consider the points A {~7, 10), B (12 7}, ¢ (10, 24], and D ( -8, -3}, Whlch two lines detarmined by these points are

perpendicular? Explain.

Review: Coordinate Geometry
1. Find the distance l.;etween (4; 8)and {-12, 19) '

A. 4.3 units 8. 10.1unlts

“ ¢ 7.5 units D. 13.6 units

2. A doctor reads coordinates off a computer screen
faor endpolnts of a bohe. The endpoints ara at (-4, 2}
and {2, 5). What Is the'length of the bong? Rotind your
answer to the nearest tenth of a unit,

A. 5.4 units ‘ B. 6.7 units

€. 9.2 unlts D. 10.0 units

3. Flnd the midpaint M of XY if X is (4,-3) and ¥ Is
© (105,98},

A. {43, 47.5) B. {50.5, 50,5

C. (54.5,47.5) D.(54.5,43)"

4, Asmall piane needs to refuel approximately
halfway to its destination. it takes off from Its base
lacated at (9, -2), on the coordinate grid and its ;
destination is located at (-3, 8}, Which of the following
locatlons is the closest to halfway?

A {2.2,2) B. (2.5,3.5)

C. (4, 1.5) p. (5, -4.5)
5. Which equation represents a Iln_e that is not parallel
to the others?,

A 2xeye3 B. 2x—-y=-5.

Co-2u+y=-1 ‘D, -2x-y=4

. 6. Which two equatlnns helow ARE paraltei with each

other?
A 3x-y=3 B. 6x+2y='-5

C. -2x-y=-1 D. Bx+2y=4

Mame:

" 7. Anisosceles’ triangle has vertices at (1, 1} and (3, 3}

Which of the following could be the coordinates of the
third vertex?®

A1,3) B(3,2) C [-1,-3) D.(5-1)

8. Do the following points Iurm‘an-isosceles triangle?
lustify your answer, 1{-1,1}, M{(2, 3}, 0(2, 1)

9, What is the equation of the line paraliel to line m
that passes through point P?
i »

P
R g 3 -
-l
A y=-2%-5 B. y=2x-4
D.y=2x—4

C. ‘y"= 2%-5

10. Graph the square wath vertlces (3,3); (5, 6}, (8,3)
and IG D) and find the area. y




[
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'

1i. What is the area of triaﬁg!,e ABC, with A5, 0),
8(0, 5), and c{o, O)? '

12, What is the area of trlangle ABC, with Al,'0},
B(s, 0}, arid ¢{3, 7)?

13. What Is the equatloh of the line through the polnt
(3, 5) that Is parpendicular to the line y = -—; x+2?

14, What Is the perimeter of APQR I P 15 {5, 7), Q15 (1,
- 1)and R1s (-2, 6)? : . C P

15, Write an equation in slope-intarcept form of the
line that is perpendicular to the fine with equation
y = 8x+ 1 and that passes through point #(6, 0).
Explain your reasoning. '

16. TD has endpoints €{1, 5} and D(1, -7), EF has
. endpoints E{-1, -3) and F{3, 1). Fraove the segments
have the same midpolnt. ' .

'

1

" Use the figure below to answer parts questions 17-21.

7.

1s.

18,

20.

21,

22

2

LRI S

| e

What are the coordinates of ﬁolhis A, BandC?

Find the length of each segment.

. Name all pairs of congruent segments.

Find the perimeter of AABC.

‘What type of triangle Is BC ?

Find the area and perimeter of the polygon below,




